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(1) ZdfrE(v) VITHPOEREICEIY v =10 %
(2) B A58 (m)
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al= o 5Ty = 1.25
100
m = a1 X SL = 1.25 X 24 = 30.0 N/mf
Xo>T m = 30.0 Nuwf
(3)kEAL FEE(W/C) m = -17.6 + 26.8 X C/W
W/C = 26.8 = (30.0 + 17.6) X 100 = 56 %
W/C = 56 %
(4) ALK E (W) WTHEOFEICLY W = 156 kg/m
(5)HAIE AL FE(C) C =W - (W/C) X 100 = 156 — 56 X 100 = 279 kg/m
Cv= C + P = 279 +~ 3.04 = 92 2 /m
(6) 2558 (A) A = 4.5 % X 1000 = 45 2 /m
(7)EM=E(s/a) MTHOFEREICEIY s/a = 43.8 %
(8) N EME(S) Sv = (1000 — (WH+Cv+A)) X s/a = 707 X 43.8 % = 310 #¢/m
S1 = Sv X 60.0 % X FELEE = 310 X 60.0 % X 2.64 = 491 kg/m
S2 = Sv X 20.0 % X FEELEE = 310 X 20.0 % X 2.76 = 171 kg/m
S3 = (Sv — SvX60.0% — SvxX20.0% ) X 2.66 = 165 kg/m
(9) BALHEM & (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 603 = 397 £ /m
Gl = Gv X 30.0 % X FKELEE = 397 X 30.0 % X 2.72 = 324  keg/m
G2 = Gv X 40.0 % X FELEE = 397 X 40.0 % X 2.72 = 432  keg/m
G3 = (Gv — GvX30.0% — GvxX40.0% ) X 2.72 = 324 kg/m
(10) B R AN 2 (Ad) Ad = C X INE = 279 X 0.70 % = 1.95 kg/m
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